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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five from the following: 2x5=10
- #Hofe 2w Ted we ¢

a)  Write down the electronic configuration of
silver (Ag).

PETeR (Ag) O3 TETRGH [T (@14 |

b)  Which one of the following has higher value of second
ionisation potential? Na, Mg

@R faoR SRR e S (@1 2 Na, Mg

c)  SbCI canactas Lewis acid. Explain.

SbC1,=7% SIPTE <ol FIe e | 1T 41|

[Turn Over]

d)  Find out the oxidation number of sulpher atoms in
NaS,0,.
Na,S,0, sl ATl sfsiefer emercayl Fef
Rl

e) Identify the following spicies as nucleophile or

@
electrophiles: CCL, FeCl,, R-O-R, Br
frfafae spicies wfoTis Moz 1 2ERg wiEe

@
<05t 7@ 4 ¢ CCL, FeCl,, R-O-R, Br

f)  Define centre of symmetry. Give an example.
A (e K M€ | G THIZH 716 |

g)  Write down the product(s) of the following reaction.

Sieva e Sty [Rfwere smidefe @9

B,H¢/THE o
— >
NaOH/H,0,

h) Differentiate the following pair of compounds by
chemical reaction : pent-1-yne and pent-2-yne.

I (ol o IR Rida TRy i 4|
(oG- 1-SI13 G= (2G-2-571%H |
2.  Answer any two from the following: 5%x2=10
@I 76 2 T wie 2
a) 1)  Calculate the ratio of radius of 2nd Bohr
orbit of Li" ion and 3rd Bohr orbit of

hydrogen atom.
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b)
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Li* SE o @9 %9029 e a3
SIRCGITEH AT TOR ([ FHoALL JPANES
oIS e 39 |

Write down two limitations of (n+/) rule.
3+2=5

(n+]) TRGR 76 Ifoe @14 |

Balance the following equation using ion-

electron method:

R AT SN SERRG AT Ao
a7

KBrO, +KBr+HCl — KCl+ Br, + H,0
State briefly Lux-Flood concept.

ARCFCA (57X ¢ STIHZFIC LI |

Write down the name of a redox
indicator. 2+2+1=5

G (O Fp R N+ |

Vinyl chloride does not form precipitate
with alcoholic AgNO,, but Allyl chloride
forms white precipitate. Why?

fomige] @IaIRe SylerHzetil AgNO, s e
R (@9 Sxeewe o w3 1, 5%
SRS FRIEC G2 [ AMl 2w
TRoAT F(H, (2

(3) [Turn Over]

d)

3. Answer any two from the following:

The C-C, bond of Propene is shorter than
C,-C, bond of Propare. Explain. 3+2=5
ceif*it C,-C, T (e (eeofts C,-C, I%el
o7 SICeR (=S |

Indicate the major and minor products of
the following reaction with explanation.

v Rfgrears 45 @3z (Mol [igrers
smigfafer @12 @3 i |

or®
CH,-CH,-CH,——™"+?
| o

®N(CH,) I
Write down the product with mechanism.
Trans-2-butene __B2/CCL o 2+3=5

Y e

Rfeioa feaEme 72 Riees omd @2 |

Bier- - RS _meca

10%x2=20

@I 76 A T wie ¢

a)
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Calculate the wavelength of Hg and Hf
lines of Balmer Series.
(R=109670cm™)

AN AT Ho, @R HP (@EE0E< 935 (1)
a1 (R=109670cm™)
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b)
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Antimony (Sb) shows (+5) oxidation state where

Bismuth (Bi) shows (+3) oxidation state although
both elements belongs to group-15. Explain.

=ifFow (Sb) @3k ReT=riel (Bi) vt (Te12
ALRPIEAR 1579 (MAeE Z=1e (Sb) 97 Tiel
wd (+5) 58 (Bi) @3 &i@9 ®4 (+3), 12071 54 |

Both Ca and Zn have elements 4s* outer
most electronic configuration but Zn has
higher ionisation potential compared to

Ca. Explain.

Ca @R Zn TOF (NG A& FCF 3TRG
T 482 ZCe18 Zn 97 e [Ke@g T
FEPRIR SIS [ SIeor @ | 512!
4|

While 'Na' has negative electron affinity, 'Mg'

has positive electron affinity. Explain.
4+2+2+2=10

EIfeIEE 3w oMt Ades 58
TSI PRI SCETRG SIS eIl | i 541 |

While Lil is hydrolysed easily, but LiF
does not. Why?

Lil “zee SiyRefe 23 € LiF 20
EReRe Al @2
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SnCl2 can act as both lewis acid and base.
Why?

SnCl, 521 SIFE =R =le T <A FE F0O
AT | (e 2

F~is hard base or soft base. Explain by
HSAB principle.
F- I3 SIF 55 1231 5 195 | HSAB Aifest
HIRICT I |

What is levelling solvent? Give example.

Levelling G713 2 @30 Srizgel vis |

Calculate the equivalent wt. 0of Na,S O,.5H,0
from the reaction:

25,07 +1, - S,0> +21".

Aed AN (F Na,S,0,.5H,0- a7

CEFSH el 4 |

28,07 +1, —S,07 +2I .
242+2+2+2=10

Which one of the following carbanion is

more stable and why?

(I TR S&F 2 9. (& ?

CH,COCHCOCH,, CH,COCHCOOC,H,
Arrange the following in order of increasing

nucleophilicity: F~, C1, Br™, I”

(6)



d)
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fTeiafretiiba amesia @ S Areies
F,ClI',Br,I”

Draw the all possible stereoisomers of
tartaric acid comment of their optical
activity.

BrGIfzs SyifTe s1eet i<y fastifas Srigeise
wfel o g% SREINIE Wl S Aol
A G 4 |

Draw the structures of E—and Z-2-pentene.

E— 38 Z-2-(AFG0a 519e7 SFe e 4 |

Find out the absolute configuration of the
following molecule using R/S notation.

qee @efa R/S fHacsa smEe A9
FeRFAICEI ol 4 |

OH

\\\\\“\C
H™ ¢ o,
C2H5

2+1+3+2+2=10
Which one of the following is more

reactive towards SN! reaction and why?

e @G SN e wfss Afea 9zg
@2
CH,0CH,Cl, CH,CH,CH,C!
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iii)

CH,CH,C=CH

v)

Write down two basic differences between E,
and E, reactions.

E, a2 E, Rfexma »idm @4

Complete the following reaction

sequences:

DICERRITRIFR b LR

Hg?" /20%/H,S0, | o Zn/Hg 9
60°-80°C  ~ °  Conc.HCI ~°

s

| 0y/Zn/H,0 . o
ccl, :

Write down the product.

Y e o

fgaitre Rieaare smd @2 ¢

0;/Zn/H,0 o
| CCl, -

What happens when cis-2-butene is treated

with cold alkaline KMnO A solution?
24+242+2+2=10

Fp1-2-RETHAE #Aest =R KMnO, 772 [iewi
FAN T F 960

(8)



